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Please check whether you have got the right ques
N.B: 1. Q.1 is compulsory.
2. Attempt any 3 from remaining questions, «
3. Figures to the right indicate full marks* IS
4

‘.
)

Determine Z transform of signal x(n) =6(n+ 1}
Explain block diagram of DSP. )
Compare IIR and FIR filters.

Find X (K) by DITFFT method of input seq

Determine inverse Z transform

VA
X = a7+ 1
for ROC 1Z] > 1
|1Z] < 1/ 2
Compute response of the system “to\the in’pu’f 07)
y (n) =0. 7y(nv :
(06)
R 3 Qo
: \I“md X (K)’g D FEF algorithm. (10)
The desxred response of I;he low gass ﬁlter is7 S \Q (10)
R Ry ; TI'M<\\" N 3 ﬂ"/‘\z
.$(. ¢ < -
J “g“ H(émmmg window.
t‘t Q \\\
f@ter to satisfy constraints. (05)
L1\ £ 0 <w<0.2n
b le(eJW)I 100 057 <w < m
R U lﬁg b1I)hear’ﬂTranstUQatlonjag&/assume T=1 sec.
i 2 % 9 ’o mo. E ‘QQ‘
C‘onvert anang ﬁlter vsqth sys\fem function (05)
> ¥ )\ ~ S + 0 T‘( e Q
H (S) =

(SHODEF9

7 i ° thd dxgltal IIR f;lter using b1]mear Transformation. The digital filter should have resonant
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Q5 a)

Qo6 a)

b)

Paper / Subject Code: 31504 / Biomedical Digital Signal Processing

Develop cascade and parallel realization strucgure for

Find DTFT of signal x(n) = (%)"u(n) n=0
Compute circular convolution by DIT / IDIT method
x(m) ={1,2,3,4,} DR
h(n) = {5,6,7,8)

State and prove differentiation property of Z lr*m\lnnn.

N

An FIR digital filter has unit impulse response § %qu;ncc h (1) = {2 2» 1} and input
sequence x(n) = {3,0,-2,0,2,1,0, ~2,-1 0} T =

Find output response of system by devc]qp ndd und savc method.

Explain applications of DSP to Blomc.dluﬂ afgu]ecrmg D
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